ASSEMBLY INSTRUCTION

REPLACEMENT PARTS

Please do not contact the company purchased from as we can help you faster.
Order replacement parts and hardware at " www.boltonfurniture.com "

n 20 minutes

(. Use of power tool to assemble this )
product will invalidate any claim and
damage this product making it

Tools Required

unsafe !!! N @—=
. Please assemble on a clean soft = |
_surface to avoid damage. y (Included) J{ (Not Included)

www.boltonfurniture.com
7126/2023 10of 4 ANNE2035 20" DIA END TABLE



Part list - 20" Dia. End Table

Identifying the hardware-ldentify the hardware using the illustrations below

™ B
[A o * 15[5 15

M6*20mm Bolt ) M6 Washer )

) )
[ C N 01 [D 4*20mm Screw 06
J

Allen Key )

[ S
& /
[E 210*30mm Wood Dov(v)e% [F BracE 03}

www.boltonfurniture.com
7126/2023 20f 4 ANNE2035 20" DIA END TABLE



Dai Nguyen
Highlight


4*20mm Screw

P

Bracket

Step 01 [D o 0%

Step 02 {E & o:ﬂ

210*30mm Wood Dowel

7126/2023 3of4 ANNE2035 20" DIA END TABLE




e A
Step 03 A 03
q M6*20mm Bolt y
e A
B 03
. 4 M6 Washer y
o )
ﬂi] \_ Allen Key 01
2
wb :
Note: Do not tighten bolts firmly at this time

r ™
Step 04 A 12
k M6*20mm Bolt p
r ™
B 12
\_ M6 Washer )
e p
C 01
\_ Allen Key )

R

‘

=

Note: Tighten all bolts at this time

7/26/2023 4 of 4

ANNE2035 20" DIA END TABLE




L—

ANNE2035 20" Diameter Fnd Table



THANK YOU [ emzem
FOR YOUR | dgpeds
PURCHASE = .
B O LTO Nﬂ* T

F UR NI T U R ESEEEEEL
Register your product at
www.tmkgl.com/bolton

/1 Additional Savings available for
7O, customers across all brands

Hassle-free customer service
TeamCustomerService.com

Connect on social media with our
lifestyle brands

NORTHWEST @WAKEM



	20 INCH-1.pdf (p.1)
	20 INCH-2.pdf (p.2)
	20 INCH-3.pdf (p.3)
	20 INCH-4.pdf (p.4)
	SP-ANNE2035 Newbury 20 inch End Table.pdf (p.5)
	TMKGL_Insert_Product_Guarantee_Bolton (2).pdf (p.6)

